1. An asslgnnmﬂofptobabiﬂymgstobeywhldn of the following?

d oﬂhesereasons + b) The probability of an event is the sum of the outcomes in the
sample space which make up the event.
c) The sum of all the probabilities of all outcomes in the sample  d) The probability of any event must be a number between 0 and
space must be exactly 1. 1, inclusive.

2. Students at University X must be in one of the class ranks—freshman, sophomore, junior, or senior. At University X, 35% of the
students are freshmen and 30% are sophomores. If a student is selected at random, the probability that her or she is either a junior or

a senior is 35? ‘Frul\amn\
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3. Ina particular game, a fair 6-sided die is tossed. If the number of dots showing is either four or five, you win $1. If the number of spots -
showing is six, you win $4. And if the number of spots showing s one, two, or three, you win nothing. You are going to play the game
twice. ’

The probability that you win $4 both times is
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4. Ina particular game, afalra-sdedcﬁelsmIfhenumberofspotsshovdnglsemerfworﬂve youwlns-l lfmonurnberofspols
showing is six, youvmn“Andeemmberol shovdngnsonetwoorll'nrae you win nothing. You are going to play the game
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5. An event Awill occur with probability 0.5. An event B will occur with probability 0.6. The probability that both Aand B will occur is 0.1.
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6. Experience has shown that a certain lie detector will show a posi (indicates a lie) 10% of the time when a person is telli
the truth and 95% of the time when a person is lying. Suppose that a random sample of 5 suspects is subjected to a lie detector test
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8. Adebbﬂdmhtmmursw%uwm@”wmrmm What, then, is the probability of rolling a 67
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9. Suppose we toss a penny and a nickel, Let A be the event that pemylsaheadandsbomemmﬂmmeridwusalal
The events Aand B are
a) dependent b) complements
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